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B.A./ B.Com./B.B.A./B.Sc./B.C.A. V Semester Degree
Examination, April/May - 2024
COMPUTER SCIENCE
(NEP)

Time : 2 Hours Maximum Marks : 50

SECTION -A / Qpon -

1.  Answer any ten of the following sub-questions. Each sub-question carries
two marks. 10x2=20

NI cdnYmonide =3 WIT-JIRR wBor. J@ WB-TIR Q0w wosrish.
(a) Define Cybersecurity.

?u’duc‘ a;géwaad WWOA,
(b) Name any two Web Browsers.

OIRFTBe TR [ @ﬁc‘m*mq BROX.

(c) What is Internet ?
QOBRF & 0TTED 2

(d) What is Cybercrime ?
ﬁduc‘ ©TTT 20TTe 9

(e) Name any two types of Cybercrime.
OSRRBe HTB dedod afiAled OTTOFTI), BOR.

(f) What is Virus ?
ﬁdd:&‘ QO0TTER 2

(8) Mention any two Social media platforms.
QAR VB ToRTe3d DO de@ﬁﬂ%‘aﬁi gedA.

(h) What is Social Media Marketing ?
ORI F BRI [REFLIONT 20T 9

(i) Define E-Commerce.
Q-FORRF c:aa‘sq=l DWOA.

(j)) What is Digital Payment ?
RBLT TTE D0T3eRD 9

(k) What is data backup ?
det WRIT HoTTeD 9

(I)  What is antivirus ?
©,0633,0%° 2058 9

OO P.T.0.
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SECTION - B / oyt - ©

. " ] arries filve marks.
Answer any two of the following questions. Each question carries B

3N cimymace adab FEeR wwIon. B IFA 0 50BN
plain.

2x5=10

2. What are the issues and challenges of Cybersecurity ? Ex
A00F E3es BRI ) TmoLonss odRFY ? JFOR.

3. Explain the types of cybercrime.
R0 OTOIHT LN, DFOR.

4. Write a note on Social Media Marketing.
TOTWET BRFT TeEFLIoN B0F w3Trd WIWO.

5. Explain the advantages of E-Commerce.
T-TOWT T SDBRONYI, ITOA.

6. What are the key aspects of mobile phone security ?
R Fee® PEdod TI0D woBNW IR ?
SECTION - C / &yn — &

Answer any two of the following questions. Each question carries ten marks.
FENT SRR ments T gﬁdﬁ@ﬁ OZOR. Td TF B WOINL. 2x10=20

7. Explain the advantages of Internet.
SOTWF VT YWEAONYRY, DTOX.

8. Explain cybercrime against women and children.
DETODT I Y adb% ﬁduc“ @a‘doatﬁd’d&)d WO,

9. Explain briefly the security issues related to Social media.
ToRPEE BRGIHE FoORAT FTFT TDANRI™, FogTon HTOA.

10. Explain about the Common frauds and preventive measures of digital payments.
BRUS* TBINY ToWNT, ToWIND I BBMDS RN wr§ DTOR.

11. Explain Cybersecurity measures and best practices.
Rpi0" ZUTTD TN I G0 VIRANT, DFOX.
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B.Com.V Semester Degree Examination,
COMMERCE
SEC-4 : Employability Skills
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Time : 2 Hours Maximum Marks : 50

Note : (i) The question paper contains 50 questions.
(i) All questions are compulsory.
(iii) Each question carries one mark.
fiv) Each question is provided with four options.
() Please note that in case of any confusion, the English version of the question

paper is final.

Instructions to the candidates
ezzﬁarmﬂ RBInd

1. The question paper will be given in the form of a question booklet.
gﬁaﬁgiodami THRFOD SRTTY BRBLRRIPT.

2. Immediately after the commencement of the examination, the candidate should
check the question booklet supplied to him/her contains all the 50 questions in

serial order.
Boeg Togogws 03T, eHFodn IR XoWoX VRAT BB OISR, WOSOTIeR,

BEEHRB 50 IV, AOr CRBBODRTR, BOTALERYILT);

3. The question booklet does not have unprinted or torn or missing pages and if so,
he/she should bring it to the notice of the invigilator and get it replaced by a
complete Booklet. This is most important.

TP oy TO3 SROME/BOOMHE/ARRE AW THLNVD, BROODIDY, TNGEY DTRHFTIR
. ¥plol7] dsec?:mdﬁd nmag BT Tonw @!&abgﬁodomd ucsm&m@m (mxcsmi 144
TBOVPT), AW awﬁémmcmnd.

4. Blank pages of the question booklet may be used for rough work.
@8&353&6053 000 THUNGI, §o5p, ﬁoﬁ%/rough work R UTOSReNTLTOTN.

0 O P.T.O.
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ans“—ec:-UtSnU“ 'S provided with four choices (A), (B), (C) and (D) having ‘;'m. (-”rrtt"};r.
qllestioﬁ n Q0Se the correct answer and darken the bubble CREnEpIESIg, S e

Umber using Ball pen in the OMR answer sheet.
Eé?’i‘: y LAY o ~ - T A —
m.é;uq” ) S GOS%H%’F&:Q LOAZeRNS (A), (B), (C) 3;32 (D), 5@;1;,4_’_4 LOTH mOCITRT
\Ju-‘ s&

), Broad, XOoing ngdﬁmi 0% WS OMR 3T TeFond oo T’ 9
ey, ) ) ) ] |
38, TOBR worvesmon wper O, oz,

Correct Methog
lelovertad 0

Wrong Methods/3&) gzrish
BOOD ®®CO @OOD
®P®OO ®@@OO®

B answer carries 1 mark and no negative mark for wrong answer.
AOCIRT WILH) soms LOTID, BRoDHIB B I ¢0ITE s0r0E WOBNTL.
No Candidate i N el '
session withg
also has to e
before handj

Each corre ct

will be allowed to leave the examination hall till the end of the
ut handing over, his/her answer sheet to the invigilator. Candidate

nsure all the particulars/columns in his/her OMR is filled correctly
Ng over the OMR sheet to invigilator.

T3 INT Fozs TIFDLITD, 3088 e0BOR erS TP Toed Tahod FNCICTWIN

3RBRONOT 3o T2NY. 33 Sezeozon TI DORESD, VT =0, g OMR
TEFODY wIBIADT weop BRLEDT, FOKRN FIROIGLD 0T DUTTBRBLRH.
Strict compliance of instructions is essential. Any Malpractice or attempt to commit

any kind of Malpractice in the examination will result in the disqualification of
the candidate.

20T8 B0e252033 BRBEINIR, TN TWITIIT,, IWBY ©o3T OPHFNIR,
UTTFRRVITINIFT.

Use of Simple/non-Programmable calculators are allowed.

rstold 6?2_3%353&30‘ YT, WITLIOW.

In case of any discrepancy between English and Kannada versions, the English
version will be taken as final.

ZoneT I IRF SHINY (TYY) BT RIS FTYARYGY, ORI T o,

&= ES
008N JONEERR.
lish Section questions from Q. No : 46 to Q. No : 50 are in English Only. The
is |
En% uestions are in bilingual form (English + Kannada).

S "
rest q no =3 =, "o : 46 00T T, IO : 5O MY, CONBRFHTY FYOUHIS,
QONET’ WONG WY = .
< ) . . |
s OT TINTR, LERR QONET + FTXWAQ) FeJOLII
l
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Answer the following questions.
BN TINOR COBOA.
Directions (1-6) : What comes next in the series ?

NBCFBING (1-6) : B8 FHTY IwoT D WAIB 9

1. 64,32,16,8, 2 .
(A) 0 (B) 1

(C) 2 (D) 4

2. 3,8,15,24, 2 48, 63.
(A) 15 (B) 18

(C) 63 (D) 35
3. 5,5,15,75,525,4725, __ 2 |
(A) 51795 (B) 50135

(C) 51025 (D) 51975

4. E-5, G-7,1-9 K-11, Pl S

(A) M-15, P-21 (B) M-13, 0-15

(C) O-15, X-24 (D) N-18, K-14

5. FAG, GAF, HAL IAH, __ ? .
(A) JAK (B) HAL

(C) HAK (D) JAI

0O
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6.
i B aab__ 2 a I Tk ba
(A) " bbaap, (B) ababa
() bbabh (D) aaaba
7. Find which of the following are twin primes ?
ﬁe:naqs)mﬂg XRPH o= BT, SO FORDELROND.
(A) (37, 41 (B) 3,7)
(C) (43, 47 (D) (71, 73)
8. The sum of first 50 natural numbers is equal to _
SRTL 50 Fnes XoBNYG eIy 1t ARRITONHIT,
(A) 1275 (B) 1025
(C) 1235 (D) 1205

9. Find the HCF of 40 and 60.
40 3 60 3 HCF o, §0m&a00.
(A) 40 (B) 20

(C) 1o (D) 10

10. Divide 91 in the ratio 2 : 5.
91 &, 2:5 UHTRITY LRNR.
(A) (26, 65) (B) (29, 62)

(C) (21,70 (D) (31, 60)

MU A0 A
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Directions (11-15) : The pie-chart drawn below shows the spendings of a country on various
sports during a particular year. Study the pie-chart carefully and answer the questions
given below it.

PERCENT OF MONEY SPENT ON
VARIOUS SPORTS FOR ONE YEAR

G
2\ e{\{: o Golf
10 12.5%

Others
iy Basketball
12.5%
Cricket F"f;;)an
25%
Hockey

15%

QBTN (11-15) : &8 9K 2o ?JC)F?‘_%‘_ [IRFTQ A0 33N e Bezw aﬁa&FmﬂEQl ﬁd—ﬁgodbg
BEIRNT. ST, 2POFNCT SPODT SRR 9N VBHT JJRI™, IR,

20T IVFTY DG 3edBNY Boed

NWF JRAT BT ST

Pl
@?f moc*
0,‘0 t

Q 0
- pl 12.5%

1 OO/ [¢] 230 %ugct
12.5%

38 W
25%
T3
15%
11. If the total amount spent on sports during the year was ¥ 1,50,00,000, the amount
spent on cricket and hockey together was.

WO JRFTY FedMeN DdF TRET 2t d:ag ¥ 1,50,00,000 eshz%d 3% DB, TR
0WF TRAT JRZ DTNR ?

(A) 25,00,000 (B) 37,50,000
(C) 50,00,000 (D) 60,00,000

OG0 P.T.O.
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12. Out the following, the country spent the same amount on :
(A) Hockey and Tennis (B) Golf and Football

(C) Cricket and Football (D) Football and Hockey
BINIZNYQY Besy Dudr IRAT wode 83 JRT :
(A) T8 By essng (B) n'w: DB oty

(C) 38 3y Towmer (D) THuper A o8

13. Pie-chart shows that the most popular game of the country is (on the basis of
money spent)

(A) Cricket (B) Football (C) Basketball (D) Hockey

ﬁd—esg Be3T ol @83 ﬁzﬁgﬂ HILOPTNE 0T 3Re0TIY 7 (DbF INRT TJes
ST0T Hesd)

(A) 38 (B) Soemes (C) X toe* (D) o8

14. The ratio of the total amount spent on football to that spent on hockey is :
TR DB, TR Dodr IRaAT L) BRI VT DTNG 9

(A) 1:15 B) 1:1 (C) 15:1 (D) 3:20

15. If the total amount spent on sports during the year was ¥ 1,20,00,000 how much
was spent on basketball ?

20 IRFTQ Zedron DedF ST W 303 T 1,20,00,000 Shitate) RN T
DF TRFTINDHIS 9 i

(A) 9,50,000 (B) 10,00,000  (C) 12,00,000 (D) 15,00,000

16. (10, 25, 30, 45, 50), what is average ?

(10, 25, 30, 45, 50) XTe%O DN ?

(A) 30 (B) 31 (C) 32 (D) 33

AT T80 0




i7.

18,

19.

20.

21.

VOO AR O 0Re

7 21S4ES (21BCOMSS4A)

A number is increased by 10% and then it is decreased by 10%. Find the net
increase or decrease percent,

(A) 1% increase (B) 1% decrease (C) 0% (D) 2% increase

o, 10% a:z,rcamfd DY ToIC LT, 10% o sBRRIRCHIT.

C_‘,':,(‘__,,, r:\_-.i-) O, r

Fdxﬁ Jj"“; -ALIJ“_,: '"‘¢6 Gm UOC&..&J&‘&.O{J
(A) 1% Ty (B) 1% Wﬂ (C) 0% (D) 2% Bz

The average age of 30 boys of a class is equal to 14 years, when the age of the
class teacher is included the average becomes 15 years. Find the age of the
class teacher ?

Lot FOMS0DL 30 IWWNMT XORTO JoRA 14 TIHWFNYR ITRITONTIW.  Iond L¥80
ToDH, XeLATPR XOKO 1s:surmm§cs Fone L¥ET WORET, ﬁoma&mo

(A) 50 (B) 44 (C) 45 (D) 42

In an examination, 30% of the total students failed in Hindi, 45% failed in English
and 20% failed in both the subjects. Find the percentage of those who passed in
both subjects.

Lot TOCEODY, LA LIROFNY Z3 Be. 30% TR WRHFA® LoDOLY s Ieror TNTRT,
45% QONETIY SDELOFTINTRT BH) 20% 0ER LRODNVY wEerorTaNtes. STBR
WHODNYY WLErF TRENT Besw T ?

(A) 35.7% (B) 35% (C) 40% (D) 45%

In a partnership investment of X and Y are 3200 and 3600 respectively total profit
18 3400 then ratio of profit share of Y ?

XL Y T Towrmdd Fpatodhy gmhaon 3200 L 3600 SN 2ty ooty 3400 Slplte
Y3 e Todd 9o ?

(A) 900 (B) 800 (C) 1600 (D) 1800

In an examination, 120 questions were asked. As there was negative marking,
Rakesh decided not to attempt 15 questions. Each question carries 2 marks.
80% of his answers were correct. For a wrong answer 1 mark is deducted. How
many marks were obtained by Rakesh in the examination ?

r.oth ToedoDy 120 BPRVAD, Sedon, Srtls’ SRFon’ Ay oo Tuder® 15 IJAvaD,
LUIOTOTLD AGFOATR. T a'jziom 2@0&1&# aéfao&dbﬁcﬁ ©BT 80% YVIOTD 3 rt)ai:ahj
17 1 w08 BIREYHTILIT, TRTS Toedoh Tobert o LoRNVL, T 9

{A)' 40 (B)y 147 (C) 152 (D) 168

PIT-Ol

T'E'TY N Ny v =amems o e
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22.

23.

24.

25.

26.

In a partnership profit ratio of A and B are in the ratio of 6 : 5 for the period 1 year
then the investment ratio of A and B is :

TR0 ST ODTITY ADH BAWD 1 IRFT @=IOR 6:53T @&E&dgmgd.
ToMTS A DD BnY seddcdh oHmes 9 ?

(A) 5:6 B) 2:3 (C) 6:5 (D) 3:2

A and B together can do a piece of work in 6 days and A alone can do it in 9 days.
In how many days can B alone do it ?

LOT FORTH, A DH B a0e 3D 6 OINGY Tpror ApeIT. Tone A wy@e o

6@»5533 9 aamg o,gasaa-ma@fqowm mmdo” Bz.,waﬁe AT, OINGY e gox
w;asarﬁ@@ﬁnaaéq

(A) 18 (B) 16 (C) 12 (D) 20

The average age of a family of five members is 24. If the present age of the

youngest member is 8 year, what was the average of the family at the time of
birth of youngest member ?

ﬁdﬁéﬁ BEN0LT TOORO TODED 24. $OOD ATIS DA JodRD Sawi-"mhdd feleny]

ABIT HIIT ZBOPTY HIVOWET FTHXO FoHEY T, 9

(A) 16 (B) 20 (C) 28 (D) 30

A cycle was purchased for ¥ 1,600 and sold for ¥ 1,400. Find the loss %.

20T %ﬁ@‘md ¥ 1,600 ii 00D [ Tonw T 1,400% Dlelnie ﬁeﬁcj Beso @up 2

2 1 1
(A) 123% B) 125% © 125% D) 121

By selling 8 articles, a tradesman makes a loss equal to the cost price of 4
articles. Find loss %.

8 TAYR, JIPoL TRBDT FROE, 2.2) TIRTOOOID 4 TWNY BSR BT ITID
ODFLWTS. ITT Jeswo T 9 Hn,

(A) 25% (B) 100/3% (C) 50% (D) 40%

0T 0 0
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27. Z take T 50.000 loan from bank for 6 months at 10% interest rate find amount to
be repaid ?

Z %, 10% wRE0TY 6 Son¥STNA tROINET T 50,000 L TG, TmMES TR
SRETRT $03 S, 2

(A) 52,500 (B) 55,200 (C) 2,500 (D) 5,000
28. A man borrowed some money fr|om_ bank at interest rate of 8% for 2 year. He pays
simple interest ¥ 4,000 find principle ?
wy) R 2 IAFE 8% WRTTTQ w007
T 4000 BITD. TMRTT RO BT oD 7
(A) 25,000 (B) 20,000 (C) 30,000

@% as'aa%m“1 O JRTI. 9D XY Wy

(D) 16,000

29. In how many years, the sum of ¥ 10,000 will become 2 10920.25 if the rate of
compound interest is 4.5% per annum ?

9, TIRENYQ, WIGOD T TAFY 4.5% SNGS X 10,000 S0 T 10920.25 Srvad,
(a) 3 (B) 2 (C) 4 (D) 1

30. In a certain code langua

ge, the word PARTNER’ is coded as ‘TRAPREN’, how will
‘FOUNDER'’ be coded in the same language.
Lo X

xo%e3 oRod® PARTNER’ ©, TRAPREN’, 200 30¢3 S@Eovnd. oplaniated
‘FOUNDER’ O, DR BT IR 9

(A) NUOFDER  (B) NUOFRED (C) FOUNRED (D) OFNUEDR

31. If EAT is 26, ZEAL is 44 and AROMA is 48,

Then how is ‘ HELMET’ written in the
same language ?

EAT @m& 26, ZEAL O, 44 DL, AROMA B, 48 20T WITB, wile poRodQ HELMET
e:aa‘»::ﬁl TR w300 9

(A) 23 (B) 63 (C) 83 (D) 53

32. If wall is called window, window is called door, door is called floor, floor is called
roof and roof is called ventilator, what will a person stand on ?

(A) door (B) wventilator (C) roof (D) floor

ﬂ:adojaabi 3138, $L330D, oNER, WONOT

) IR, DIRODT, oI I PoTSoD,
Soudenit’ Qo FBRT, Ly [ oY JeRTS 9

(A) ez3oneD (B) Hosdsdesioe (C) eozed

0 0 OGO

(D) =bz@

P.T.O.
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Directions for questions from 33 to 35 :

Study the data given below and answer the following questions.

‘Royal Monarch Regal’ is written as @ # *
‘Regal Legacy Gold’ is written as * % ?
‘Hope Gold Life’ is written as % & $

‘Regal Monarch Morals’ is written as # * ¥

33 00T 35 T [ONT IJRYR DWer IIND :

391 AeRORT BerpIT, CHODI IPB IINT IIR9R GuZOA.
‘Royal Monarch Regal’ Cﬂ&b_{ @ # * 0T WBORTONT

‘Regal Legacy Gold’ @3, * % ? 20w AloJevelontata]

‘Hope Gold Life’ ©¥3, % & $ 20w M oleMrtita)

‘Regal Monarch Morals’ £, # * V Q0% WBoHERNT

33. What will be code for Regal ?
Regal 8 80¢3 QTNHIT ?

(A) % (B) * (S

34. What will be the code for “Gold Legacy” ?
“Gold Legacy” & 3R¢@° QToNRIT ?

(A) # & (B) % # (C) ?%

35. Which word is coded as # ?
IS TR, # K010 ST [RBLNT ?

(A) Moral (B) Life (C) Regal

AT OO0 AL

(D)

(D)

(D)

AV

Monarch
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36. In a class consisting of 50 students A ranked 12'h from the top and his friend B
ranked 26th from the bottom. How many students ranked between Aand B?

50 DTRPFNVYI, LERROBBT ITNAoHY A Wedon 12 e BroinotEE, HH YN
3 eko3 B wnaoc:s 26 d¢ MSID, IBWH, A DR B Iada b} am@rnm RS

wcsoagp ?

(A) 13 (B) 12 - (C) 25 (D) 38 .

37. Raju goes to school by bus, the bus goes straight 5 km then turns left and moves
8 km at last it takes right turn and moves 2 km to reach school. Distance
between school and Raju’s home is :

(A) 15km (B) 8.5 km (C) 12 km (D) 7 km

oo WARY ZodR a"iraemaaaﬁ WA JeTaoN 5 8.00e. é.raeﬂ::%d 8033 aa!ﬁ &N 8 8.20¢.
asejﬁoSd T wog édorbsd a:'eb ZoSODR, FLOTER 2 §.90¢. 35@&335 Tomssd S
B Ua&'oa)ﬁ a’béodb amaa ©033 DT, 9

(A) 15 8.20e. (B) 8.5 8.2 (C) 12 8.0 (D) 7 .90

38. Simplify : 7-2+413-5-2+2
XOYRAOY 1 7T—2+13-5-2+2

(A) 12 (B) 13 (C) 14 (D) 15

39. Smoke : Pollution : : War: __ 2?2 .

(A) Victory (B) Peace (C) Treaty (D) Destruction

40. Taste : Tongue : : Walk : -

(A) Pavement (B) Crutch (C) Legs (D) Walking

101 O A O P.T.0.
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41.

42.

43.

A and B are married couple. X and Y are brothers. X is the brother of A. How is
Y related B ?

(A) Brother-in-law (B) Brother
(C) Son-in-law (D) Cousin

ADD B D0k ZoTensb. X DB Y B80T, X AS XBReTC. Tormend Y @)
BR 3’ Bowomad 9

(A) Reewt = (B) X3eews

(C) wood (D) ReerT Xowod

4 kg of rice at ¥ 5 per kg is mixed with 8 kg of rice at ¥ 6 per kg. Find average
price of mixture ?

(A) S/kg (B) 6/kg (C) 5.66/kg (D) 6.66/kg

482 ©¢ 500. Y BSoD, 8 8.2, ©3 6 Sn. NY XS Xed NZp IPBOONG. TMTS
EZET KoORD 836 D 9

(A) 533 8. (B) 633 8.2, (C) 56638 82 (D) 6.663TS 8.2.

Which of the following diagrams indicates the best relation between Author, Lawyer
and Singer ?

BINT 030 B3R SeDd, Wdew B MOHE SBDT N‘O&Oﬁd&bﬁl mazsx’o:id 2

O O
(A) O (B)

(T T L
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44. Study the problem figures marked as A, B, C and D carefully and try to establish
the relationship between them. Select the best option.
A B, C 0% D 2omh rhchaxenss Iabd, u3nvas, 30snon Smohs Snd S sny
SIS FoROFIK, AR Jobd . WOIRT €VIT HOA.

Problem Fig’ures

XX, W3R
3 em——
7] >
—— &

Answer figures

NIT WIRWD
e e

X =
= N
— e
(A) (B) (©) (D)

45. Problem Figures :

XT3, e
(A) (B) ©) (D)
Answer figures :
230 IR
\
Z P
A
(A) (B) (C) (D)

P.T.o-

0 0 10 O A
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“.

47.

48,

49,

50.

Fill in the blanks with the suitable preposition :
He travelled all ____ the world when he was 80 year old.

(A) in (B) over (C) with (D) of

Select the INCORRECTLY spelt word.

(A) Cemetery (B) Accommodate (C) Intruder (D) Necessary

Select the most appropriate synonym of the given word.

Competent

(A) Complex (B) Poor (C) Capable (D) Beginner

Select the correct passive form of the given sentence.
Manu will tell her later.

(A) She will be tell later by Manu.

(B) She will tell later by Manu.

(C) She will be told later by Manu.

(D) She will be tell later.

Select the most appropriate Antonym of the given word.

Beautiful
(A) Handsome (B) Ugly
(C) Graceful (D) Marvelous

-00o0-
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B.Com. V Semester Degree Examination, April/May - 2024

COMMERCE
Basics of Business Analytics (Elective)
(NEP)
Time : 2 Hours Maximum Marks : 60
SECTION - A
1. Answer the following sub-questions, each sub-question carries one mark. 10x1=10

6.

7.

(a)
(b)
(c)
(d)
(e)
(f)

(g)
(h)
(1)

()

Expand MIS.

What is Big Data ?

What is Logistic Regression ?
What is Google Analytics ?
What is decision tree ?

What is de-coding ?

What is Segmentation ?
What is Sampling ?

What are missing values ?

What is a transforming system ?

SECTION - B

Answer any four of the following questions, each question carries five marks.

4x5=20

What do you mean by Distributed File System ?

What are emerging trends of analytics in Education ?

What is the application of spreadsheets in MS-Excel ?

Write a note on Kaplan Meier Analysis.

What is Hadoop Distributed File System ?

What are the applications of Data Mining ?

AT P.T.O.
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SECTION - C
Answer any three of the following questions, each question carries ten marks.
3x10=30
8. List the emerging trends of analytics in Education, Government Finance and

Supply ?

9. Write a note on Genomics Driven Wellness Tracking and Management System
(GO-WELL).

10. How do business analytics improves business through data ?
11. What are elements of data ? Explain them in brief.
12. What are the applications of Linear Regression in Data Analytics ?

-00o0-



